

Effingham County

Purchasing

Danielle Carver, Procurement & Capital Projects Manager 804 S Laurel Street, Springfield, GA 31329

EVALUATION TABULATION

ITB No. 24-ITB-066

TSPLOST/LMIG/Supplemental LMIG 2025 Road Improvements - Construction

RESPONSE DEADLINE: October 25, 2024 at 5:00 pm Report Generated: Monday, November 4, 2024

SELECTED VENDOR TOTALS

Vendor	Total
APAC Atlantic, Inc.	\$4,567,406.253
C. W. Matthews Contracting Co., Inc.	\$4,602,656.0892
Platinum Paving and Concrete, LLC	\$4,622,556.32
Reeves Construction Company	\$4,740,390.001

SUPPLEMENTAL LMIG 2025

Distance: 4.837 Miles Road #1: Community Rd from Ziegler Rd to Dead End Road #3: Windsor Rd from Buckingham Dr to Dead End Road #4: Noble Ct from Windsor Rd to Dead End Road #5: Chapel Park from Windsor Rd to Majestic Dr Road #6: Wessex Rd from Buckingham Dr to Chapel Park Rd Road #7: Buckingham Dr from HWY 30 to Church Hill Dr Road #9: Courthouse Rd from Midland Rd to Big T Sign Road #12: Shadowbrook Cir Intersection from Shadowbrook Cir to Blackwater Way Road #13: Taylor Chapel from Clyo-Kildare Rd to Old Augusta Rd

	Su	pplemental LMIG 2	025		APAC At	lantic, Inc.		ews Contracting o., Inc.		Paving and ete, LLC		onstruction opany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	150-1000	TRAFFIC CONTROL	1	LS	\$175,000.00	\$175,000.00	\$79,999.13	\$79,999.13	\$95,300.00	\$95,300.00	\$56,840.03	\$56,840.03
X	210-0200	GRADING PER MILE	2.76	LM	\$16,000.00	\$44,160.00	\$24,204.59	\$66,804.6684	\$11,000.00	\$30,360.00	\$12,000.00	\$33,120.00
X	402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	893	TN	\$183.00	\$163,419.00	\$211.18	\$188,583.74	\$213.00	\$190,209.00	\$296.60	\$264,863.80
Х	402-1812	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	1568	TN	\$127.00	\$199,136.00	\$129.40	\$202,899.20	\$125.00	\$196,000.00	\$130.55	\$204,702.40
Х	402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	4958	TN	\$118.00	\$585,044.00	\$118.89	\$589,456.62	\$122.00	\$604,876.00	\$123.35	\$611,569.30
X	402-3111	RECYCLED ASPH CONC 19 MM MIX, GP 1 OR 2, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$240.00	\$0.00	\$360.00	\$0.00

	Su	pplemental LMIG 20	025		APAC At	lantic, Inc.		ews Contracting o., Inc.		Paving and ete, LLC		onstruction opany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	402-3103	RECYCLED ASPH CONC 12.5 MM SUPER PAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$250.00	\$0.00	\$225.00	\$0.00
Х	413-0750	TACK COAT	4007	GL	\$0.10	\$400.70	\$2.30	\$9,216.10	\$5.00	\$20,035.00	\$3.15	\$12,622.05
Х	407-0010	ASPHALT- RUBBER JOINT AND CRACK SEAL, TP M	0	LF	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$25.00	\$0.00
Х	429-1000	RUMBLE STRIPS	3	EA	\$750.00	\$2,250.00	\$750.00	\$2,250.00	\$840.00	\$2,520.00	\$750.00	\$2,250.00
X	456-2020	INDENTATION EDGE LINE RUMBLE STRIPS- GROUND IN PLACE (CONTINUOUS)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00
X	456-2025	INDENTATION CENTERLINE LINE RUMBLE STRIPS- GROUND IN PLACE (SKIP)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00
Х	611-8020	ADJUST DRAIN INLET TO GRADE	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$1,200.00	\$0.00	\$2,000.00	\$0.00
X	636-1020	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 3	51	SF	\$28.00	\$1,428.00	\$28.00	\$1,428.00	\$33.00	\$1,683.00	\$28.00	\$1,428.00

EVALUATION TABULATION

	Su	ipplemental LMIG 2	025		APAC At	lantic, Inc.		ews Contracting o., Inc.		Paving and ete, LLC		onstruction onstruction
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	0	SF	\$0.00	\$0.00	\$1.00	\$0.00	\$45.00	\$0.00	\$50.00	\$0.00
Х	636-1036	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11	482	SF	\$30.00	\$14,460.00	\$30.00	\$14,460.00	\$35.00	\$16,870.00	\$30.00	\$14,460.00
X	636-2070	GALV STEEL POSTS, TP 7	385	LF	\$15.00	\$5,775.00	\$15.00	\$5,775.00	\$17.00	\$6,545.00	\$15.00	\$5,775.00
Х	653-0120	THERMOPLASTIC PVMT MARKING ARROW,TP 2	2	EA	\$103.00	\$206.00	\$75.00	\$150.00	\$87.00	\$174.00	\$75.00	\$150.00
X	653-1704	THERMOPLASTIC SOLID TRAFFIC STRIPE, 24 INCH, WHITE	202	LF	\$12.35	\$2,494.70	\$9.00	\$1,818.00	\$9.00	\$1,818.00	\$9.00	\$1,818.00
Х	653-2501	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, WHITE	9	LM	\$2,265.00	\$20,385.00	\$2,800.00	\$25,200.00	\$2,400.00	\$21,600.00	\$2,800.00	\$25,200.00
X	653-2502	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, YELLOW	6	LM	\$2,265.00	\$13,590.00	\$2,800.00	\$16,800.00	\$2,415.00	\$14,490.00	\$2,800.00	\$16,800.00
X	653-3502	THERMOPLASTIC SKIP TRAFFIC STRIPE, 5 INCH, YELLOW	2	GLM	\$1,900.00	\$3,800.00	\$1,825.00	\$3,650.00	\$670.00	\$1,340.00	\$1,825.00	\$3,650.00

	Su	pplemental LMIG 20	025		APAC At	lantic, Inc.		news Contracting o., Inc.		Paving and rete, LLC		onstruction npany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	653-6006	THERMOPLASTIC SOLID TRAFFIC STRIPING, YELLOWE	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$15.00	\$0.00
Х	654-1001	RAISED PAVEMENT MARKINGS TP 1	800	EA	\$5.14	\$4,112.00	\$4.00	\$3,200.00	\$3.80	\$3,040.00	\$4.00	\$3,200.00
Х	654-1002	RAISED PAVEMENT MARKINGS TP 2	80	EA	\$5.14	\$411.20	\$4.00	\$320.00	\$3.80	\$304.00	\$4.00	\$320.00
Х	654-1003	RAISED PAVEMENT MARKING TP 3	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$20.00	\$0.00	\$10.00	\$0.00
Х	706-1002	TURF ESTABLISHMENT, TP B	2.94	AC	\$3,650.00	\$10,731.00	\$3,650.00	\$10,731.00	\$3,800.00	\$11,172.00	\$3,250.00	\$9,555.00
Х	999-0000	Speed Hump	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$1,500.00	\$0.00	\$2,500.00	\$0.00
Total	'			l		\$1,246,802.60		\$1,222,741.4584		\$1,218,336.00		\$1,268,323.58

LMIG 2025

Distance: 5.357 Miles Road #2 Hester Rd from HWY 30 to Nease Rd Road #8 Coldbrook Cir from Goshen Rd to Goshen Rd Road #10 Standard Ln from 119 to Wallace Dr Road #11 Longbridge Dr from Longbridge Rd to Dead End Road #14 Lakeshore Rd from Griffin Lake Rd to Dead End Road #15 Lakeshore Dr from Joan Rd to Virginia St Road #16 Frances St from Oakwood Dr to Lakeshore Dr Road #17 Miriam St from Oakwood Dr to Lakeshore Dr Road #18 Marion St from Oakwood Dr to Lakeshore Dr Road #19 Irene St from Oakwood Dr to Lakeshore Dr Road #20 Joan Rd from Clark Rd to Lakeshore Dr Road #21 Oakwood Dr from Lakeshore Dr to Virginia St Road #22 Virginia St from Oakwood Dr to Lakeshore DR

		LMIG 2025			APAC Atl	antic, Inc.		ws Contracting , Inc.		Paving and ete, LLC		onstruction opany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	150-1000	TRAFFIC CONTROL	1	LS	\$133,000.00	\$133,000.00	\$59,867.10	\$59,867.10	\$84,800.00	\$84,800.00	\$49,300.00	\$49,300.00
Х	210-0200	GRADING PER MILE	0	LM	\$0.00	\$0.00	\$1.00	\$0.00	\$15,000.00	\$0.00	\$30,000.00	\$0.00
Х	402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	984	TN	\$183.00	\$180,072.00	\$176.55	\$173,725.20	\$205.00	\$201,720.00	\$296.60	\$291,854.40
Х	402-1812	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	1687	TN	\$127.00	\$214,249.00	\$147.43	\$248,714.41	\$126.00	\$212,562.00	\$142.05	\$239,638.35
X	402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	4246	TN	\$118.00	\$501,028.00	\$119.90	\$509,095.40	\$124.00	\$526,504.00	\$132.00	\$560,472.00
Х	402-3111	RECYCLED ASPH CONC 19 MM MIX, GP 1 OR 2, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$240.00	\$0.00	\$360.00	\$0.00

		LMIG 2025			APAC At	lantic, Inc.		ews Contracting ., Inc.		Paving and ete, LLC		onstruction opany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	402-3103	RECYCLED ASPH CONC 12.5 MM SUPER PAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$250.00	\$0.00	\$225.00	\$0.00
Х	413-0750	TACK COAT	3431	GL	\$0.10	\$343.10	\$2.30	\$7,891.30	\$5.00	\$17,155.00	\$3.15	\$10,807.65
Х	407-0010	ASPHALT- RUBBER JOINT AND CRACK SEAL, TP M	0	LF	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$25.00	\$0.00
Х	429-1000	RUMBLE STRIPS	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$840.00	\$0.00	\$2,500.00	\$0.00
Х	456-2020	INDENTATION EDGE LINE RUMBLE STRIPS- GROUND IN PLACE (CONTINUOUS)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00
X	456-2025	INDENTATION CENTERLINE LINE RUMBLE STRIPS- GROUND IN PLACE (SKIP)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00
Х	611-8020	ADJUST DRAIN INLET TO GRADE	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$1,200.00	\$0.00	\$2,000.00	\$0.00
Х	636-1020	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 3	60	SF	\$28.00	\$1,680.00	\$28.00	\$1,680.00	\$33.00	\$1,980.00	\$28.00	\$1,680.00

EVALUATION TABULATION

		LMIG 2025			APAC At	lantic, Inc.		ws Contracting ., Inc.		Paving and ete, LLC		onstruction opany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	0	SF	\$0.00	\$0.00	\$1.00	\$0.00	\$45.00	\$0.00	\$50.00	\$0.00
Х	636-1036	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11	125	SF	\$30.00	\$3,750.00	\$30.00	\$3,750.00	\$35.00	\$4,375.00	\$30.00	\$3,750.00
Х	636-2070	GALV STEEL POSTS, TP 7	280	LF	\$15.00	\$4,200.00	\$15.00	\$4,200.00	\$17.00	\$4,760.00	\$15.00	\$4,200.00
Х	653-0120	THERMOPLASTIC PVMT MARKING ARROW,TP 2	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$100.00	\$0.00	\$150.00	\$0.00
X	653-1704	THERMOPLASTIC SOLID TRAFFIC STRIPE, 24 INCH, WHITE	110	LF	\$12.34	\$1,357.40	\$9.00	\$990.00	\$9.00	\$990.00	\$9.00	\$990.00
X	653-2501	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, WHITE	5	LM	\$2,250.00	\$11,250.00	\$2,800.00	\$14,000.00	\$2,400.00	\$12,000.00	\$2,800.00	\$14,000.00
X	653-2502	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, YELLOW	6	LM	\$2,250.00	\$13,500.00	\$2,800.00	\$16,800.00	\$2,415.00	\$14,490.00	\$2,800.00	\$16,800.00
Х	653-3502	THERMOPLASTIC SKIP TRAFFIC STRIPE, 5 INCH, YELLOW	2	GLM	\$1,900.00	\$3,800.00	\$1,825.00	\$3,650.00	\$670.00	\$1,340.00	\$1,825.00	\$3,650.00

		LMIG 2025			APAC A	tlantic, Inc.		ews Contracting ., Inc.		Paving and rete, LLC		onstruction npany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	653-6006	THERMOPLASTIC SOLID TRAFFIC STRIPING, YELLOWE	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$10.00	\$0.00
Х	654-1001	RAISED PAVEMENT MARKINGS TP 1	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$5.00	\$0.00	\$25.00	\$0.00
Х	654-1002	RAISED PAVEMENT MARKINGS TP 2	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$5.00	\$0.00	\$25.00	\$0.00
X	654-1003	RAISED PAVEMENT MARKING TP 3	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$20.00	\$0.00	\$25.00	\$0.00
X	706-1002	TURF ESTABLISHMENT, TP B	0	AC	\$0.00	\$0.00	\$1.00	\$0.00	\$4,000.00	\$0.00	\$6,000.00	\$0.00
Χ	999-0000	Speed Hump	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$1,500.00	\$0.00	\$2,500.00	\$0.00
Total						\$1,068,229.50		\$1,044,363.41		\$1,082,676.00		\$1,197,142.4

TSPLOST 2025

Distance: 9.535 Miles Road#23 Courthouse Road 2 from Little McCall to Rec Park Driveway Road#24 Woodland Drive from Ebenezer Rd to Dead End Road #25 Barney Rd from Rincon-Stillwell Rd to Dead End Road #26 Wallace Drive from Old Tusculum Rd to Dead End Road #27 Zeigler Rd from HWY 80 to Roebling Road#28 Frederick St/Archibald ST/Pt1 from Rincon-Stillwell Rd to Canterbury Road #29 Canterbury St from Frederick St to Dead End Road #30 Pam Circle from Canterbury St to Dead End Road #31 Seth St from Archibald St to Canterbury St Road #32 Frederick St Pt2 from Archibald St to Cottonwood Dr Road #33 Plantation Drive fromRose Hill Dr E to Oak Ridge Circle Road #34 Rosehill Dr from Frederick St to Plantation Dr Road #35 Cottonwood Dr from Plantation Dr to Dead End Road #36 Cottonwood Ct from Cottonwood Drive to Dead End Road #37Rosehill Drive E from Frederick St to Plantation Dr/Pvmt joint Road

#38 Tupelo Dr from Rosehill Dr E to Rosehill Dr E Road #39 Plantation Circle from Plantation Dr to Dead End Road #40 Courthouse Rd Curve from Shirley Drive to 100 ft North of PT

		TSPLOST 2025			APAC At	lantic, Inc.		ews Contracting o., Inc.		Paving and ete, LLC	Reeves Constr	ruction Company
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	150-1000	TRAFFIC CONTROL	1	LS	\$159,000.00	\$159,000.00	\$149,734.38	\$149,734.38	\$180,400.00	\$180,400.00	\$106,700.00	\$106,700.00
X	210-0200	GRADING PER MILE	4.04	LM	\$8,600.00	\$34,744.00	\$27,444.95	\$110,877.598	\$12,000.00	\$48,480.00	\$10,800.00	\$43,632.00
Х	402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	351.57	TN	\$183.00	\$64,337.31	\$231.31	\$81,321.6567	\$218.00	\$76,642.26	\$296.60	\$104,275.662
Х	402-1812	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	3228	TN	\$127.00	\$409,956.00	\$133.06	\$429,517.68	\$126.00	\$406,728.00	\$128.30	\$414,152.40
Х	402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	8915.85	TN	\$118.00	\$1,052,070.30	\$114.29	\$1,018,992.4965	\$122.00	\$1,087,733.70	\$123.40	\$1,100,215.89
Х	402-3111	RECYCLED ASPH CONC 19 MM MIX, GP 1 OR 2, INCL BITUM MATL & H LIME	108	TN	\$225.00	\$24,300.00	\$273.19	\$29,504.52	\$234.00	\$25,272.00	\$352.45	\$38,064.60

		TSPLOST 2025			APAC Atl	antic, Inc.		ews Contracting o., Inc.		Paving and ete, LLC	Reeves Constr	uction Company
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	402-3103	RECYCLED ASPH CONC 12.5 MM SUPER PAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$250.00	\$0.00	\$225.00	\$0.00
Х	413-0750	TACK COAT	7205	GL	\$0.10	\$720.50	\$2.30	\$16,571.50	\$5.00	\$36,025.00	\$3.15	\$22,695.75
Х	407-0010	ASPHALT- RUBBER JOINT AND CRACK SEAL, TP M	0	LF	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$25.00	\$0.00
Х	429-1000	RUMBLE STRIPS	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$840.00	\$0.00	\$2,500.00	\$0.00
Х	456-2020	INDENTATION EDGE LINE RUMBLE STRIPS- GROUND IN PLACE (CONTINUOUS)	0.38	GLM	\$27,250.00	\$10,355.00	\$1.00	\$0.38	\$8,800.00	\$3,344.00	\$2,500.00	\$950.00
X	456-2025	INDENTATION CENTERLINE LINE RUMBLE STRIPS- GROUND IN PLACE (SKIP)	0.19	GLM	\$27,250.00	\$5,177.50	\$1.00	\$0.19	\$8,800.00	\$1,672.00	\$2,500.00	\$475.00
Х	611-8020	ADJUST DRAIN INLET TO GRADE	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$1,200.00	\$0.00	\$2,000.00	\$0.00
X	636-1020	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 3	93	SF	\$28.00	\$2,604.00	\$28.00	\$2,604.00	\$33.00	\$3,069.00	\$28.00	\$2,604.00

		TSPLOST 2025			APAC At	lantic, Inc.		ews Contracting o., Inc.		Paving and ete, LLC	Reeves Constr	uction Company
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	0	SF	\$0.00	\$0.00	\$1.00	\$0.00	\$45.00	\$0.00	\$50.00	\$0.00
Х	636-1036	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11	594	SF	\$30.00	\$17,820.00	\$30.00	\$17,820.00	\$35.00	\$20,790.00	\$30.00	\$17,820.00
X	636-2070	GALV STEEL POSTS, TP 7	644	LF	\$15.00	\$9,660.00	\$15.00	\$9,660.00	\$17.00	\$10,948.00	\$15.00	\$9,660.00
Х	653-0120	THERMOPLASTIC PVMT MARKING ARROW,TP 2	2	EA	\$102.83	\$205.66	\$75.00	\$150.00	\$87.00	\$174.00	\$75.00	\$150.00
X	653-1704	THERMOPLASTIC SOLID TRAFFIC STRIPE, 24 INCH, WHITE	341	LF	\$12.34	\$4,207.94	\$9.00	\$3,069.00	\$9.00	\$3,069.00	\$9.00	\$3,069.00
X	653-2501	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, WHITE	18	LM	\$2,250.00	\$40,500.00	\$2,800.00	\$50,400.00	\$2,400.00	\$43,200.00	\$2,800.00	\$50,400.00
X	653-2502	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, YELLOW	14	LM	\$2,250.00	\$31,500.00	\$2,800.00	\$39,200.00	\$2,600.00	\$36,400.00	\$2,800.00	\$39,200.00
X	653-3502	THERMOPLASTIC SKIP TRAFFIC STRIPE, 5 INCH, YELLOW	5	GLM	\$1,900.00	\$9,500.00	\$1,825.00	\$9,125.00	\$638.00	\$3,190.00	\$1,825.00	\$9,125.00

TSPLOST 2025					APAC A	APAC Atlantic, Inc.		news Contracting o., Inc.	Platinum Paving and Concrete, LLC		Reeves Construction Company	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	653-6006	THERMOPLASTIC SOLID TRAFFIC STRIPING, YELLOWE	85	SY	\$6.68	\$567.80	\$5.00	\$425.00	\$9.00	\$765.00	\$5.00	\$425.00
Х	654-1001	RAISED PAVEMENT MARKINGS TP 1	1173	EA	\$5.14	\$6,029.22	\$4.00	\$4,692.00	\$3.80	\$4,457.40	\$4.00	\$4,692.00
X	654-1002	RAISED PAVEMENT MARKINGS TP 2	117	EA	\$5.14	\$601.38	\$4.00	\$468.00	\$3.80	\$444.60	\$4.00	\$468.00
X	654-1003	RAISED PAVEMENT MARKING TP 3	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$20.00	\$0.00	\$10.00	\$0.00
X	706-1002	TURF ESTABLISHMENT, TP B	4.31	AC	\$3,650.00	\$15,731.50	\$3,650.00	\$15,731.50	\$3,800.00	\$16,378.00	\$3,250.00	\$14,007.50
X	999-0000	Speed Hump	5	EA	\$4,750.00	\$23,750.00	\$6,500.00	\$32,500.00	\$1,400.00	\$7,000.00	\$1,425.00	\$7,125.00
Total				1		\$1,923,338.11		\$2,022,364.9012		\$2,016,181.96		\$1,989,906.802

TSPLOST 2024

Honey Ridge

TSPLOST 2024					APAC Atlantic, Inc.		C. W. Matthews Contracting Co., Inc.		Platinum Paving and Concrete, LLC		Reeves Construction Company	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	150-1000	TRAFFIC CONTROL	1	LS	\$63,000.00	\$63,000.00	\$32,206.29	\$32,206.29	\$32,600.00	\$32,600.00	\$20,690.00	\$20,690.00

	TSPLOST 2024					APAC Atlantic, Inc.		C. W. Matthews Contracting Co., Inc.		Paving and ete, LLC	Reeves Construction Company	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	210-0200	GRADING PER MILE	1.27	LM	\$12,000.00	\$15,240.00	\$30,811.17	\$39,130.1859	\$11,300.00	\$14,351.00	\$9,575.00	\$12,160.25
Х	402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$250.00	\$0.00	\$300.00	\$0.00
Х	402-1812	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	512.57	TN	\$127.00	\$65,096.39	\$117.41	\$60,180.8437	\$123.00	\$63,046.11	\$126.35	\$64,763.2195
X	402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	1383.94	TN	\$118.00	\$163,304.92	\$112.65	\$155,900.841	\$120.00	\$166,072.80	\$116.50	\$161,229.01
х	402-3111	RECYCLED ASPH CONC 19 MM MIX, GP 1 OR 2, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$240.00	\$0.00	\$360.00	\$0.00
X	402-3103	RECYCLED ASPH CONC 12.5 MM SUPER PAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	0	TN	\$0.00	\$0.00	\$1.00	\$0.00	\$250.00	\$0.00	\$225.00	\$0.00
Х	413-0750	TACK COAT	1118.33	GL	\$0.10	\$111.833	\$2.30	\$2,572.159	\$5.00	\$5,591.65	\$3.15	\$3,522.7395

		TSPLOST 2024		APAC Atla	antic, Inc.		C. W. Matthews Contracting Co., Inc.		Paving and ete, LLC	Reeves Construction Company		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	407-0010	ASPHALT-RUBBER JOINT AND CRACK SEAL, TP M	0	LF	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$25.00	\$0.00
Х	424-5007	SINGLE SURFACE TRTMT, STN SIZE 7, GP 1 OR 2	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$20.00	\$0.00
Х	424-5107	SINGLE SURFACE TRTMT, STN SIZE 7, GP 2 ONLY	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$20.00	\$0.00
X	429-1000	RUMBLE STRIPS	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$840.00	\$0.00	\$2,500.00	\$0.00
X	430-0160	PLAIN PC CONC PVMT , CL 1 CONC, 6 INCH THK	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$100.00	\$0.00	\$1,000.00	\$0.00
X	430-0190	PLAIN PC CONC PVMT , CL 1 CONC, 9 INCH THK	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$175.00	\$0.00	\$2,000.00	\$0.00
X	430-0200	PLAIN PC CONC PVMT , CL 1 CONC, 10 INCH THK	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$200.00	\$0.00	\$3,000.00	\$0.00
Х	456-2020	INDENTATION EDGE LINE RUMBLE STRIPS- GROUND IN PLACE (CONTINUOUS)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00

		TSPLOST 2024	APAC Atla			W. Matthews Contracting Co., Inc.		Paving and te, LLC	Reeves Construction Company			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	456-2022	INDENTATION EDGE LINE RUMBLE STRIPS- GROUND IN PLACE (SKIP)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00
Х	456-2025	INDENTATION CENTERLINE LINE RUMBLE STRIPS- GROUND IN PLACE (SKIP)	0	GLM	\$0.00	\$0.00	\$1.00	\$0.00	\$10,000.00	\$0.00	\$10,000.00	\$0.00
X	457-1005	GEOGRID REINFORCEMENT, TP A	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$15.00	\$0.00
X	457-1010	GEOGRID REINFORCEMENT, TP B	0	SY	\$0.00	\$0.00	\$1.00	\$0.00	\$10.00	\$0.00	\$15.00	\$0.00
Х	611-8020	ADJUST DRAIN INLET TO GRADE	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$1,200.00	\$0.00	\$2,000.00	\$0.00
X	636-1020	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 3	0	SF	\$0.00	\$0.00	\$1.00	\$0.00	\$35.00	\$0.00	\$50.00	\$0.00
X	636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	0	SF	\$0.00	\$0.00	\$1.00	\$0.00	\$45.00	\$0.00	\$50.00	\$0.00
X	636-1036	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11	0	SF	\$0.00	\$0.00	\$1.00	\$0.00	\$37.00	\$0.00	\$50.00	\$0.00

	TSPLOST 2024									Paving and ete, LLC		nstruction pany
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	636-2070	GALV STEEL POSTS, TP 7	0	LF	\$0.00	\$0.00	\$1.00	\$0.00	\$20.00	\$0.00	\$50.00	\$0.00
Х	653-0120	THERMOPLASTIC PVMT MARKING ARROW,TP 2	4	EA	\$102.89	\$411.56	\$75.00	\$300.00	\$88.00	\$352.00	\$75.00	\$300.00
X	653-1704	THERMOPLASTIC SOLID TRAFFIC STRIPE, 24 INCH, WHITE	20	LF	\$12.35	\$247.00	\$9.00	\$180.00	\$9.00	\$180.00	\$9.00	\$180.00
X	653-2501	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, WHITE	2.54	LM	\$2,250.00	\$5,715.00	\$2,800.00	\$7,112.00	\$2,400.00	\$6,096.00	\$2,800.00	\$7,112.00
X	653-2502	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 INCH, YELLOW	1.91	LM	\$2,250.00	\$4,297.50	\$2,800.00	\$5,348.00	\$2,600.00	\$4,966.00	\$2,800.00	\$5,348.00
X	653-3502	THERMOPLASTIC SKIP TRAFFIC STRIPE, 5 INCH, YELLOW	0.64	GLM	\$1,900.00	\$1,216.00	\$1,825.00	\$1,168.00	\$1,400.00	\$896.00	\$1,825.00	\$1,168.00
X	653-6006	THERMOPLASTIC SOLID TRAFFIC STRIPING, YELLOWE	500	SY	\$6.69	\$3,345.00	\$5.00	\$2,500.00	\$9.00	\$4,500.00	\$5.00	\$2,500.00
X	654-1001	RAISED PAVEMENT MARKINGS TP 1	369	EA	\$5.14	\$1,896.66	\$4.00	\$1,476.00	\$3.80	\$1,402.20	\$4.00	\$1,476.00

TSPLOST 2024					APAC Atlantic, Inc.		C. W. Matthews Contracting Co., Inc.		Platinum Paving and Concrete, LLC		Reeves Construction Company	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	654-1002	RAISED PAVEMENT MARKINGS TP 2	37	EA	\$5.14	\$190.18	\$4.00	\$148.00	\$3.80	\$140.60	\$4.00	\$148.00
X	654-1003	RAISED PAVEMENT MARKING TP 3	0	EA	\$0.00	\$0.00	\$1.00	\$0.00	\$20.00	\$0.00	\$10.00	\$0.00
X	706-1002	TURF ESTABLISHMENT, TP B	1.36	AC	\$3,650.00	\$4,964.00	\$3,650.00	\$4,964.00	\$3,800.00	\$5,168.00	\$3,250.00	\$4,420.00
Total		1				\$329,036.043		\$313,186.3196		\$305,362.36		\$285,017.219